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Res.No.; K20tJ 1310
Name : .............

fff semester B'sc' Degree (9pJgs-srp.{rffJ.xamination, 
Novemb er za20coMplEr5#fllilffgrns ) eG

3c os ply : Hurnan 
tS: ,f PHYsrolocy

Time;3Hours -- "rtrrffill-lrnysiofogy-f

l' Answer any one. Total Marks ; s2
1) Whar

"-on"rt ,3Xnot?iffi3^"fl:oX"ro.,arion curve ? Expiain rhe merhod or2) Explain the structure offormation nv mn"vl 
''r flephron and give a note on the mechanism of urine

f l' Answer any one. (1x6-6)
3) Give ar

,no ou[in";t'of structure of inner ear. Exprain rhe physiorogv of hearing4) Exptain,ll::,iyr,ure 
of human hearr wjrh ilthe cardiac cycle. -' ' 'urrtar neart with the help of a diagram and describeitl' Answer any four. (1x6=6)

5) Wr-ite a r

6) Briefry .fffit::",TJ intesrinar hormones

7) Exprain the rore of photoreon 
of respiration.

B) Explain tn* "r^^,]^:'l:'"t:t"ptor 
cells in vision.

;*:fi;l;:ffi#djilki*,,;
lv. Answer any six of the folrowing. 

irough blood. 
@x3=rp)

1 1) Acclirnatisation. - 'v" 'L

12) lschaemic hear.t disease.
13) Neurotrans

14) celtmediat 
tters ? Give example"

1 s) Homeo.ru'lo 
immunity'

P.T.o.
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16) AsPhYxia.

17) Forrnation of carboxy haemoglobin'

18) Diabetes insiPidus' (6x1=6)
19) HbF

V. Answer the following'

20) Match the following :

a) Salivary amYlase i) LiPids

b) Renin ii) Proteins

c) PePsin iii) Milk Proteins

d) SteaPsin iv) Starch

21) a) Respiratory centre is present in

b) Pacemaker of heart is situated in the wall of

c) Renin is Produced bY

d) Scurvy is due to the deficiency o{ (2x1=2\


